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Quiz 2 Version B

You have 15 minutes to take the quiz. No phones, notes, or use aids of any kind is permitted.
1. (2 points) Choose whether the following statement is true or false. [A]

The parameterization r(s) = (2 cos ( ), 2sin (3) 3), 0 <'s <, is an arc-length parameterization
of it’s graph.
v'lty = zém (_ z (-\ 4
< I 3C0§ 3 ,3

[vt)= a "Sm’l(")-c— g(%\{»% = W*i-

2. (8 points) [Unit Tangent & Normal, Curvature]

O TRUE @ FALSE

Consider the curve parameterized by r(t) = (3cost,3sint,4t), 0 <t < 7. Find T, N, and & for
the space curve defined by r. [AJN]

T(+4) = (2:;1 T/ = {-Bent, Beost, 47
\e o\ = [agmes aemterle = Janip, = Jz= =5

So | Tlt)y= CEsm, st £)

Nw= T2 70 = (st -§sme, 07
(= Eopte oms =% =5

So N(t) -;-s-ll-'s(‘-f—s-wst, -—%smt,t:?
= {2 wst, -Esnt,0)
N = <—w5t,-—smt ,07
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